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Physiology

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680700090 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The renal hilum expands into a cavity within the kidneys called
Options :

1. % renal medulla

2. 7 renal sinus

3. ¥ renal cortex

4. < renal arteries

Question Number : 1 Question Id : 630680700090 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9% R g & iR WG A faeaRaeaie B seremangl
Options :

1. & I Tl

. o A

FEVE N S ]

Question Number : 2 Question Id : 630680700249 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 2176

Page 1



4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Which of the following is not a good way to maintain fluid and electrolyte balance in the human body?
Options :

1. % Eat a balanced, healthy dict

2. Eat plenty of salt, as it contains sodium, which is an electrolyte
3. < Drink plenty of water

4. % Avoid strenuous outdoor excrcise in hot weather

Question Number : 2 Question Id : 630680700249 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefaa 7 & S 91 Are TR § %9 3R 3adeiarge Iga §14 3G BT 33T e el 32
Options :

1. & Afid, [ SR a1

2. E D WY, e TH8 ASTH el 8, Wil Ueb FAILIZE &

3. % gg GRT AT iy

4. % TH WA T HOR 16 AW A T

Question Number : 3 Question Id : 630680700091 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of connective tissue membrane that lines the cavity of a freely movable joint?
Options :

1. ¥ Serous membrane

2. % Mucous membrane

3. ¥ Cutaneous membrane

4. <7 Synovial membrane

Question Number : 3 Question Id : 630680700091 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % iRt feredt
2. % =T fRreedt
3. % @y fEred
4. 7 N f3redt

Question Number : 4 Question Id : 630680700171 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a major type of tissue?
Options :

1. ¥ Connective

2. <7 Cardiac

3. ¥ Epithelial

4. ¥ Muscle

Question Number : 4 Question Id : 630680700171 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FOfIEd & 4 &F 91 SHa® ol 708 THR el 82
Options :

1. % qarel

2. g

3. <« Ul

4. < AiUREf

Question Number : 5§ Question Id : 630680700093 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following cells line the sinusoids and are responsible for cleansing the blood?
Options :
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1. ¢ Phagocytic Kupffer cells
2. ¥ Hepatocytes
3. ¥ Cytotoxic T cells
4. % Astrocytes

Question Number : 5 Question Id : 630680700093 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e o 3§ o 9 SIRET TEaEsy ) Udaas Bl ¢ SR Xad B I1h $- & e RifeR 82
Options :

1. 7 UEBTIfHATES HBR PIRIBIT

2. % gUCIECY

3. % BIRPII T HIRIBIY

4.

< ARIY
Anatomy
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 6 Question Id : 630680700174 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of negative feedback mechanism in the human body.
Options :
1. ¥ Sweating in response to high temperature
2. @ Contraction of the uterus during childbirth

3

o

Blood clotting
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4. %7 Release of insulin in response to high blood sugar levels

Question Number : 6 Question Id : 630680700174 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ OFa IR B THRIES Ufafhar d5 $1 Ud 3aeRu gl
Options :

1. % I dI9aE &1 gldfesar 3 o Sl
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AW N

Question Number : 7 Question Id : 630680700097 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From which cells of islets of Langerhans glucagon secretes?
Options :

1. ¥ Beta-cclls

2. <7 Alpha-cells

3. ¥ Delta-cells

4. < F-cells

Question Number : 7 Question Id : 630680700097 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AREY HIRABT T B! b1 PifRIeb1i J Teeb T Hfdd giell 82
Options :

1. % dier-piRprei

2. SDI-BIBISN

3. % SRI-PIRBIEA

4. % F-DIRrepraf
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Question Number : 8 Question Id : 630680700255 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0

In the steps of the heart conduction pathway, which of the following structures carry the excitation signal to the ventricles, causing them to
contract?

Options :

1. ¥ Atria

2. % Atrioventricular node
3. ¥ Bundle of His

4. <7 Purkinje fibers

Question Number : 8 Question Id : 630680700255 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

&g =reH At & =Rl §, Fafiad & o 3 Geem ey a6 SaoH Gad o ol 8, R 3 Rigsa 82

Options :

1. & Sffcig

2. % 3ffeie-Fe Arg

3. = §su oifw few

4. RMbol dg

Question Number : 9 Question Id : 630680700257 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the shape of the urinary bladder?
Options :

1. ¥ Rectangle

2. % Circle

3./ Triangle

4. ¥ Hexagonal
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Question Number : 9 Question Id : 630680700257 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR BT 3R ST gl 82
Options :

1. < 3°d

2. % dd

3. B

4. © yeaivlig

Question Number : 10 Question Id : 630680700258 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following papillae are located near the back of the tongue?
Options :

1. ¥ Filiform

2. © Fungiform

3. <7 Circumvallate

4. % Foliate

Question Number : 10 Question Id : 630680700258 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

fafafaa & 4 o Uit sy & 9 1 ok Rya grarg?
Options :

1. © dgey

2. ¥ DIHEY

3. 7 UREgd

4. % Wiferge
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Demography and common health statistics

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 11 Question Id : 630680703376 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Following are the objectives of National Health Policy 2020 except
Options :

1. ¥ Population Stabilization

2. +7 Urbanization

3. ¥ Gender equality

4. % Reproductive health

Question Number : 11 Question Id : 630680703376 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ BIBISox P W i 2020 F ey FEfafEd g
Options :

1. % e RRIHR

2. WD

3. % dfire A

4. % YOI WY

Question Number : 12 Question Id : 630680700101 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Zero population growth (ZPG) occurs when -
Options :
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1. %7 The birth rate cquals the death rate
2. ¥ Emigration = Dcath Ratc
3. ¥ Immigration = Birth rate

4. % Emigration = Birth rate

Question Number : 12 Question Id : 630680700101 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T S 9f (ZPG) 99 Bl ¢ o -
Options :

1. 1 R GY T D R G 6

2. % JHIT=FF R

3. @ YA =SH R

4. % IHAN = STH R

Question Number : 13 Question Id : 630680700181 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What role does education play in addressing population explosion?
Options :

1. ¥ It leads to higher fertility ratc among educated individuals

2. < Tt discourages the use of contraceptives

3. </ It increases awareness about the benefits of smaller families

4. % It exacerbates population growth by promoting family planning

Question Number : 13 Question Id : 630680700181 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SR fahie &I HaIfd B & e oo YT Furd g2
Options :
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4. % g URAR fIoH &1 9e1aT SR SISl gfg HI SgIdal 8

Question Number : 14 Question Id : 630680700102 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of deaths occurring per thousand people of the given population is defined as the
Options :

1. ¥ Fertility rate

2. ¥ Morbidity Rate

3. ¥ Survival Rate

4. 7 Mortality rate

Question Number : 14 Question Id : 630680700102 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

) TS STRiRe H U g9IR @ OR B ATl 9 B e Y F =0 & uRyiia frar mn g
Options :

L. S P TT R

2. % BIAI &R

3. % STReilfddr &R

4. VHI R

Question Number : 15 Question Id : 630680703380 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The statistical system is used for the organization and coding of diseases and health conditions for statistical purpose and healthcare
management.

Options :
1. % SDO
2. % CDC
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3.<71CD
4. ¥ NCHS

Question Number : 15 Question Id : 630680703380 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁw%ﬁuwwﬁmwmmaﬁtwm%@umm‘m%ﬁmw 3R e Rl & WTa SR FIET & fog
SIS

Options :
1. % SDO
2. % CDC
3.¢1ICD
4. % NCHS

Community Health, Epidemiology and Disease Prevention
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 16 Question Id : 630680703381 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which government initiatives focuses on affordable, accessible healthcare services in rural areas?
Options :

1. ¥ Pradhan Mantri Surakshit Matritva Abhiyan (PMSMA)

2. ¥ National Health Protection Schemes (NHPS)

3. ¥ National Urban Health Mission (NUHM)

4. <7 National Rural Health Mission (NRHM)
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Question Number : 16 Question Id : 630680703381 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
B W B g Tredtor & F Twdl, Ay wred Jarel R HEa e
Options :
1. % Qe QR Argd S (PMSMA)
2. @ ST TR Y& UGS (NHPS)
3. % P W] WA A= (NUHM)
4. < TP JHIUT WY T (NRHM)

Question Number : 17 Question Id : 630680700106 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There are 5 stages of the epidemiological transition model. The prime cause of mortality in the second stage is
Options :

1. ¥ Infections

N

. ¥ Non-cardiovascular discascs
3. <7 Degenerative discases

4. % Senescence or old-age

Question Number : 17 Question Id : 630680700106 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST AT YehHvT ATST & 5 TR0 | GEX TR0 H g BT G- HRUI gl
Options :

1. % FpH

2. % TR-geafe AT

3. 7 3UHYD A

4. % Sividr a1 gerar
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Question Number : 18 Question Id : 630680700187 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In epidemiology, is the proportion of people who die from a specific disease among the diagnosed individuals with the disease over a
certain period of time.

Options :

1. ¥ Incidence rate

2. % Attributable risk
3. < Case- fatality rate
4. < Prevalence rate

Question Number : 18 Question Id : 630680700187 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g@mﬁwﬁ, 31 ST BT SIUId & Sl U AT orafdy & dian & wry e o e safeadl & e e fafly ot @ s
1

Options :

. % 3dcd X

2. % JftRideH SR
3.V - TR

4. S Y &R

Question Number : 19 Question Id : 630680700266 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which mosquito carries the Dengue virus?
Options :

1. <7 Aedes aegypti

2. % Anopheles stephensi

3. % Culex pipiens

4. % Both Anopheles stephensi and Culex pipiens
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Question Number : 19 Question Id : 630680700266 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B T AR ST AR ard] HaT 82
Options :

1. TS 3foredt

2. % T Wkl

3. % Yoy e

4. % T W= SR Fgciay fftda qH1

Question Number : 20 Question Id : 630680700268 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following levels of disease prevention includes actions to modify population health determinants?
Options :

1. 7 Primordial prevention

2. % Primary prevention

3. ¥ Secondary prevention

4. < Tertiary prevention

Question Number : 20 Question Id : 630680700268 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR 1 AU & Faffed 7§ 3 e TR 1 sden W FuRe! S 92t $37 31 eRasal mid 82
Options :

1.« SRIAYE AHUH

2. % IfAe AbY™

3. « el Iy

4. % gdg® VbYW
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Maternal Health Pregnancy and Childbirth

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 21 Question Id : 630680700109 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of cervical ripening?
Options :

1. ¥ Thinning of cervix

2. +7 Hardening of cervix

3. ¥ Relaxing of cervix

4. < Dilation of cervix

Question Number : 21 Question Id : 630680700109 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafafaa & 9 ot wr iz dar uRkue & f&aRivd 181 82
Options :

1. % TfeRy UiaT ST ude g

2. TR TiaT T e gl

3. % T ieT 1 R

4. « TR el 1 e

Question Number : 22 Question Id : 630680700190 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a common characteristics of the uterine contractions during the first stage of labor?
Options :
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. % Predictable

. % Intermittent

. ¥ Weak

. = Strong

BN —

Question Number : 22 Question Id : 630680700190 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FrafifEa § 9§ oF 91 79T & ugd TRUT S GRM TR Sga o 9 fagvar 961 32

Options :

1. % gaigAg

é
3

Question Number : 23 Question Id : 630680700114 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Teratogenesis is most likely in fetal age
Options :

1. ® Before 20th day after fertilization

2. <7 Between 20 and 56 days after fertilization
3. % In second trimester

4. ¥ In third trimester

Question Number : 23 Question Id : 630680700114 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T Ue &) Tl 3ifie e YOI Mg At ¥
Options :

1. % YA F 203 T Y g
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2. AR F A 209 56 A F &
3. % gl ot
4. = 8 fomrdt 7

Question Number : 24 Question Id : 630680700194 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which route of administration would be preferred when a localized effect of a drug in a specific tissue or organ is desired, such as in the treatment
of renal tumor by injecting the drug into the renal artery?

Options :

1. ¥ Intravenous route
2. <7 Intra- arterial route
3. ¥ Intramuscular route

4. ¥ Intradermal route

Question Number : 24 Question Id : 630680700194 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

9 ot fafkiy Sde a1 ol 7 gaT 31 RIF U414 Fifsd g, o IR & fovd At &t wrufiidsan €1 Sime, 99 6 ga@ ok & SUaR o
g% YA H &d1 &) SIaE BRAR

Options :

1. ® SRRy Ant

2. 340 Onf

3. % afc: Uht |t

4. % Sfferavig Arf

Question Number : 25 Question Id : 630680700271 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name given to the endometrium during pregnancy?
Options :

1. ¢ The Decidua
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2. % The Trophoblast

3. « The amniotic cavity

4. = The inner cell mass

Question Number : 25 Question Id : 630680700271 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG & SR TSI &I &1 M fean g2
Options :

1. 7 SHrgan

2. 8 CIhIsRE

3. & QU g1

4. % fidaRe $IRrbT goqdqH

Question Number : 26 Question Id : 630680700272 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following tests or factors does not contribute towards a diagnosis of pregnancy?
Options :

1. ¥ Doppler's test

2. % Ultrasonography

3. ¢ Haemoglobin test

4. < Positive serum hCG

Question Number : 26 Question Id : 630680700272 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafea # 3 o o1 e 71 FRe THfawn & Fer § Grer 71 darg?
Options :

1. % SIeR qdiam

2. % JcCIIG]

=
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3. e wigon
4. = UiSifed RA heG

Question Number : 27 Question Id : 630680703392 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which symptoms is often associated with ectopic pregnancy?
Options :

1. ¥ Persistent cough

2. ¥ Excessive hunger

3. ¢/ Vaginal bleeding and pelvic pain

4. % Painful urination

Question Number : 27 Question Id : 630680703392 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DI Y TEOT SRR TS THfaR A 93 gia g2
Options :

1. % TR @it

2. % 3D Y@ T

3. I TF9d SR AT g

4. % T A

Question Number : 28 Question Id : 630680700116 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Based on the growth and development of an infant, when is a child able to see and track objects?
Options :

1. % AtBirth

2. % 0-2 months

3. <7 3-6 months

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 2076
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4. % 6-9 months

Question Number : 28 Question Id : 630680700116 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R ) 3T SR AT F MR W, T e aRgait Y 3T IR T F A Fem B 82
Options :

1. ¥ SFHW

2.9 0278

3. 3-6 WM

4. % 6-9 TG

Question Number : 29 Question Id : 630680700198 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The primary purpose of administering erythromycin eye ointment to newborns after birth is to

Options :

. ¥ Prevent diaper rash
. % Prevent jaundice

. 7 Prevent pink eye

oW

. % Prevent respiratory infections

Question Number : 29 Question Id : 630680700198 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T & q1E Taord RIgsi & TR A ReA I ST uufie 3exg 3l
Options :

1. % SR W B AT

2. % Giferan g9 | A0

3. T[T ST B AT

4. % 4G HHHU I Aeh-T
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Question Number : 30 Question Id : 630680703395 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At what age should a newborn typically regain their birth weight?

Options :

1. ¥ 2 months

2. % 1 year

3. 2 weeks

4. % 1 week

Question Number : 30 Question Id : 630680703395 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Ao RIY BT AR TR o S1g H 0T o7 & T ST oi aTus U =1 a1fgu?
Options :

1. % 27gH

2.8 199

3.2 98
4. % 1 9lg

Child health and Nutrition
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 31 Question Id : 630680703396 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 2276
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As per National Immunisation schedule, which of the following dose is to be giving at birth or as early as possible within 24 hours?
Options :
1. % Vitamin A 1st dose
2. ¢/ Hepatitis B - Birth dose
3.9 0PV ]
4. < Pentavalent 1

Question Number : 31 Question Id : 630680703396 I's Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP BTV BRI & SR, i 3 & 31 3 GR1e 9 & 99 a1 24 192 & iR a1 Sreal 81 9 4l S =ieey
Options :

1. ¢ faerftq T vgd qud

2. 7 gUCTZICH B - 9 Q%

3.8 0PV 1
e

. % Herddie 1

Question Number : 32 Question Id : 630680700120 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How is the respiratory system of a neonate evaluated?

Options :

1. ¥ By counting respirations for 10 seconds and calculating it for a minute
2. ¥ By counting respirations for 15 seconds and calculating it for a minute
3. ¥ By counting respirations for 30 seconds

4. 7 By counting respirations over a full minute

Question Number : 32 Question Id : 630680700120 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TaroTTd FRIR] & 4 T B G ih Y e ST 87
Options :
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1. % 10 &S F U 4o &) A a5 SR Ueb e & 7w 35! TTuMT ovas |
2. % 15 & I Y1 DI I B aU1 T e & 1T 31! 70H1 v
3. 8 30 Ybs db Yl DI {edl P
4. RS Be T o= ot T dvas

Question Number : 33 Question Id : 630680700281 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The methods to calculate paediatric doses of drug administration are:
A. Body weight method

B. Body surface area method

C. Parents' age method

Options :

1. % OnlyA

2.+ Aand B

3. % Only B

4. % A,BandC

Question Number : 33 Question Id : 630680700281 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At TR B GRS & 0T B3 1 i §:
A. TRR g9 fafdy

B. TR Tde & fafdy

C. Arar-fuar & oy fafdy

Options :

1. % had A

2./ ARB

3. % HauB

4. % A,B3RC

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 24176
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Question Number : 34 Question Id : 630680703397 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The primary purpose of measuring chest circumference is
Options :

1. “ Monitoring digestive health

2. ¥ Evaluating bone density

3. 7 Assessing lung capacity

4. ~ Determining heart rate
g=4

Question Number : 34 Question Id : 630680703397 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BINCAINEE R ARt e e S
Options :

1. & U R B (R 6T

2. 8 3 T BT T Bl

3. TS B &I BT SHTeba BT

4. % g Tifg &1 fAefor

Question Number : 35 Question Id : 630680703400 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a requirement for introducing complementary food to meet, in terms of ensuring infants nutritional needs?
Options :

1. ¥ Timely induced nutrition

2. % Adequate amount provided

3. < Hygienically stored and prepared

4. <7 Showing a decreased appetite for breast milk

Question Number : 35 Question Id : 630680703400 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

@ﬁﬁﬁwﬁﬁwﬁﬁgﬁ@aﬁ%ﬁaﬁﬁmﬁ@aﬁﬁﬁ@qﬁﬁmwu‘ﬁﬂaﬁamﬁaﬂaw:ﬁff

Options :

1. % qHY R ORd g

2. % yaf A Iue AT

3. % WeEgAgd® Ufed SiR TOR AT
4. & g P UK Y@ HA AT

Immunization
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 36 Question Id : 630680700124 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
use a toxin (harmful product) made by the germ that causes a disease.
Options :
1. ¢/ Toxoid vaccines
2. % Viral vector vaccines
3. ¥ Recombinant vaccines

4. ¥ mRNA vaccines

Question Number : 36 Question Id : 630680700124 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oy gR1 R Ay eReRS Swdre) ST ITNT HaT § St AT BT HRUT SaT 8|
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Options :
1.  clags Edb
2. % GIERT daR e
3. % O: QAN Sl
4. % mRNA S

Question Number : 37 Question Id : 630680700204 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why are booster doses administered in some immunization schedules?
Options :

1. % To prevent allergic reactions

2. % To enhance the potency of the vaccine

3. ¢/ To maintain or increase immunity over time

4. ¥ To counteract vaccine side effects

Question Number : 37 Question Id : 630680700204 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PO BTHIU HRIHH H TR GRIP T &1 St 82

Options :

1. & el ufdfchanadi &1 e & g

2. % oA 1 &1 g & g

3. WG & 1Y AT YIRS &l B §-14 3@ AT dgH B oY
4. < AP P gHTE BT UAPR T & forg

Question Number : 38 Question Id : 630680700127 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following antibodies is found in breast milk?
Options :

https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 27176
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1. ¥ IgE
2. % IgG
3. % IgM
4.7 1gA

Question Number : 38 Question Id : 630680700127 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafed & 3 o a1 ufrel e go & urar oI 82
Options :

1. % IgE

2. % IgG

3. % IgM

4.7 IgA

Question Number : 39 Question Id : 630680700207 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
type of immunity is primarily conferred through vaccination.
Options :
1. ¢/ Active immunity
2. % Acquired immunity
3. % Passive immunity

4. % Innate immunity

Question Number : 39 Question Id : 630680700207 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TSR B UfeRe T T4 ¥ G101 & Head | UM S ol g
Options :

1. « gfga uferen
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2. % VTG UfcRef
3. @ [fspy uforan
4. % TGl Ufaef

Question Number : 40 Question Id : 630680700128 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What type of hypersensitivity reaction is most commonly associated with vaccines?

A) Type I: Immediate hypersensitivity

B) Type II: Cytotoxic hypersensitivity

C) Type III: Immune complex-mediated hypersensitivity
D) Type IV: Delayed-type hypersensitivity

Options :

1. % OnlyA

2. % Aand B

3.8 B,Cand D

4. <7 All four A,B, Cand D

Question Number : 40 Question Id : 630680700128 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e TR Tt sfoRidg-Tferar nfafsrar SR R St 3 I el 32

A) UPR [ T SHfasde-=iadr

B) YR II: A3eleiad fagaa=ierdr

C) UBR I1I: UiaRef Sifca-Heayd sifadda=iadr
D) TSR 1v: [adifed-ueR &t sifadae<iadn

Options :
1. % Hdd A
2. % AR B
3.9 B,C3RD
4.7 A, B, C 3R DI IR
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Adolescent health
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 630680700289 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a physical change/problem during adolescence?
Options :

1. ¥ Acne

2. % Stooping of shoulders

3. © Malnutrition

4. < Confusion

Question Number : 41 Question Id : 630680700289 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frxiRTaRn & R Fofafed & @ 19 91 IR uRadaaer T8 32

Options :

1. ® Hg™r

2. % Sl BIgpT
3. % Uy

4.79Y9

Question Number : 42 Question Id : 630680700290 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 30/76
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Which of the following is not an IQ assessment test?
Options :
1. % WAIS-IV
2. % WISC-IV
3. ¥ WISC-V
4. <7 WISS-V

Question Number : 42 Question Id : 630680700290 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Frafaa § Y i a1 1Q s uiem el 82
Options :

1. ¥ WAIS-IV

2. % WISC-1V

3. ¥ WISC-V

4. <7 WISS-V

¢

¢

Question Number : 43 Question Id : 630680700131 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the assessment of an adolescent with suspected disorders, what is the primary purpose of conducting a physical, mental, and I1Q
evaluation?

Options :

1. ¥ To solely determine the adolescent’s physical health status

2.« To evaluate the comprehensive health status, including physical health, mental state, and cognitive functioning, for a holistic understanding
3. ¥ To focus on academic performance through IQ assessment

4. % To identify physical disabilities only

Question Number : 43 Question Id : 630680700131 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hfery fIeHRI 9 U fHRIR & Geaid & aRE, TRING, AFRIS SR e Tedic- H3 o TS Se=d 1 52
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Options :
1. % $ad [BRIR BT TRING W [T o1 HyRor Hea
2. Y OAY & g IR W, THRie R SR e srigund wftd s Wy fRufa &1 gedie aa
3. % 1Q Yeuid & T § Qe UexiA IR & Higd
4. % Paq RN Sfemdrsii Dl UgaH Sl

Question Number : 44 Question Id : 630680700291 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a behavioural sign of possible substance use?
Options :

1. ¢ Consistent, Healthy Routine

2. ¥ Depression or mood swings

3. ¥ Acting paranoid, irritable, or anxious

4. < Having difficulty staying on task or staying focused

Question Number : 44 Question Id : 630680700291 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofaRad 5 4 o1 a1 SyIfad verd IudnT &7 HagiRe ohd el 82
Options :

1. G, W feaat

2. % 3fadIg U1 g H gqa|

3. % gTa, g et o fHifad saasR

4. % DT IR T G A1 HH Sigd HeA § HioAS ol

Question Number : 45 Question Id : 630680700133 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When was the Rashtriya Kishor Swasthya Karyakram (RKSK) launched by the Ministry of Health and Family Welfare?
Options :

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 32/76
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1. % 1998
2. % 2002
3. % 2010
4.2014

€

Question Number : 45 Question Id : 630680700133 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WA 3R URAR Sl HATTT §RIAP [PRIR TRA SRIGH (RKSK) e IR a1 7141 41?2

Options :
1. % 1998
2. %2002
3. 2010
4. 2014

Family Planning
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 46 Question Id : 630680700214 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How does family planning contribute to women's empowerment and gender equality?
Options :

1. ¥ By restricting access to healthcare services

2. < By limiting women's reproductive choices

3. ¢ By enabling women to pursuc education and career goals

https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 33/76
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4. % By promoting carly marriage and childbcaring

Question Number : 46 Question Id : 630680700214 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iR e afger gefdasor SR &fie THmar 8§ $9 aeH Sarg?
Options :

1. % g qarefl 9@ Ugd &) Uideitid Hid

2. « Afgansfi & uom- fadbedl & iffd e

3.« Aigansl &1 e iR HRR 967 g1ia H & e T

4. < Yy faaTg 3IR 9= Va1 = &I FeTdl S

Question Number : 47 Question Id : 630680700136 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following female sterilization procedures involves the surgeon accessing the fallopian tubes by making a small cut near the belly
button?

Options :

1. ¥ Orchidectomy
2. ¥ Vasectomy

3. ¢ Laparoscopy
4. < Testectomy

Question Number : 47 Question Id : 630680700136 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafea o 3w afear Taed uftrar & 9o A1 & UR T S1el 91 de Ao Balud cd 0% Ugddl 82
Options :

L # - gevede

2. ¥ Q39 el

3. AU
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4. % QU IS

Question Number : 48 Question Id : 630680700215 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Emergency contraceptive pills primarily work by
Options :

1. < Initiating menstruation

2. ¢ Delaying or inhibiting ovulation

3. @ Preventing fertilization

4. < Thickening cervical mucus

Question Number : 48 Question Id : 630680700215 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mTaTeq TR M g ud | gRISHad gl
Options :

1. & T o = g

2. 7 3G H ¢ U1 veprae

3. & S &1 AP

4. % a1 AW BT MGT G

Question Number : 49 Question Id : 630680700296 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process in which a surgeon places a clip on each fallopian tube to block the sperm and egg from meeting is known as
Options :

1. 7 Tubal ligation

2. % Vasectomy

3. ¥ Cervical mucus

4. % Vaginal rings
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Question Number : 49 Question Id : 630680700296 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
%u%ﬁmﬁ@w%wﬁ&@ﬁmﬁmﬁmmma@mwmm%@ FEudA
oldi gl

Options :

1. ¢ fSeafet ded

2. & g3y AHaq]

3. % Tfergdiar was

4. % QTR

Question Number : 50 Question Id : 630680703415 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The is a male contraceptive technique which involves a minimally invasive procedure to block the vas deferens.
Options :

1. % Intrauterine device

2. ¥ Spermicide

3. ¥ Condom

4. <7 Vascctomy

Question Number : 50 Question Id : 630680703415 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

e gy RIS doia § R Yhaiied S 3iasg T & o7l T <HdH S e Uisar a3
Options :

1. % Sfaeuf=rt Sueur

2. % HTARD

3. % hegW

4. < U39 e

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 36/76

Page 18



4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Common Communicable diseases

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 51 Question Id : 630680700220 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the causative agent of dengue fever?
Options :

1. ¢ Dengue virus

2. ¥ Zika virus

3. ¥ Chikungunya virus

4. % Plasmodium falciparum

Question Number : 51 Question Id : 630680700220 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ST AR P I HRE 7 52
Options :

1. ¥ ST ARRYE

2. % SilepT ARy

3. & TRy areRy

4. 8 TGHISTH BIeERA

Question Number : 52 Question Id : 630680703416 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which bacterial agent is responsible for causing the bubonic, pneumonic and septicemic forms of the plague?

Options :

1. ¥ Francisella tularensis
2. % Rickettsia rickettsii
3. ¢ Yersinia pestis

4. < Bacillus anthracis

Question Number : 52 Question Id : 630680703416 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B T ST Usie @HT & &, RS iR APSMNs i 3 3ad o & fon SR 32
Options :

1. % iR qar=™

Question Number : 53 Question Id : 630680700223 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the primary ways Giardia lamblia, a common cause of intestinal infection, spreads?
Options :

1. ¥ Through sexual contact

2. % Through air

3. 7 Ingestion of contaminated water or food

4. % By vectors like mosquitoes

Question Number : 53 Question Id : 630680700223 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

franfEar dftseran, Hid % YHHUT BT Th I HRUI, F o & WUfie W e F1e?
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Options :
1. & 4 Huch & A
2. % gATS ATAH Y
3. <7 GId UM A1 HioH &1 9aq
4. % HR O AATEHT gRT

Question Number : 54 Question Id : 630680700225 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is caused by a varicella virus and typically presents with a characteristic vesicular rash along with intestinal
discomfort?

Options :

1. ¥ SARS

2. % Rubella

3. ¥ Smallpox

4. <7 Chicken pox

Question Number : 54 Question Id : 630680700225 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁaﬁ%gﬁﬁﬂﬁmaﬁ@wm$wm%aﬁzm?h?uwﬁéfaﬁmﬁﬁﬁmu-wrwmmnﬁqgﬂﬁﬁma
?

?)ﬁims:

1. % SARS

2. & =gl

3. % Tbd

4. 7 B AT

Question Number : 55 Question Id : 630680703419 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The arthropod- borne infection which can lead to severe neurological compilations like Guillain- Barre syndrome in adults and microcephaly in
newborns if contracted by pregnant women is

Options :

1. < Zika virus

2. % Chikungunya
3. ¥ West Nile virus

4. % Dengue fever

Question Number : 55 Question Id : 630680703419 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
smyfats-sifa Fepaor it nfadt afgarsh grr nglﬂd%@’:'fwaq@l B AR Rigm SR oo Rigeli & mewmawd oF 1R

FRIGTIG Hh e B HRUT &9 Iodl §, 8
Options :

1. ST aRRY
2. ¢ e
3. & ¥ i faury
4. % SUFER

Question Number : 56 Question Id : 630680703421 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of polio infection is most likely to cause paralysis?
Options :

1. ¥ Polio type 2

2. % Polio type 3

3. < Polio type 1

4. % Polio type 4

Question Number : 56 Question Id : 630680703421 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Fofefad 7 9 food TR & Tiferdl HehHuT J GaiTald 1 &1 o S{feieh JHTaHI gidl 82
Options :

1. % GIfHdl YR 2
2. % TR YR 3
3. 7 GIfeRd TR |
4. % QI UbR 4

Question Number : 57 Question Id : 630680703422 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following virus is highly contagious and transmits mainly through respiratory droplets?
Options :

1. % Ebola virus

2. % Leptospirosis

3. ¥ Hepatitis B

4. <7 SARS-CoV

Question Number : 57 Question Id : 630680703422 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o o 9 oI 91 aeRY Sfis THMeE § SR T8 0 F 497 §&1 ey § el g2
Options :

1. % ST aTaRY

2. % AORYERIRE

3. % gUCEieY B

4.7 SARS-CoV

Question Number : 58 Question Id : 630680700147 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a sexually transmitted disease?
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Options :
1. ¥ Gonorrhea
2. ¥ Herpes
3. % Chlamydia
4. <7 UTI

Question Number : 58 Question Id : 630680700147 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FrafaRad & J ol | di= daria I 761 82
Options :

1. & il

2. % g

3. & R

4.7 UTI

Question Number : 59 Question Id : 630680700148 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these is a method of spreading HIV-AIDS infection?

Options :

1. ¥ Hugging HIV infected person

2. % Sharing a toilet with a HIV infected person

3. Sharing an injection with HIV infected person

4. ¥ Sharing a common Gym with HIV infected person

Question Number : 59 Question Id : 630680700148 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

78 A HIV-AIDS ThHUT BT &1 1 T il 82

Options :
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1. ¥ HIV Hhitd fad & e Tl
2. % HIV Tonftd safdd & Try e Frgm A
3. < HIV ThiHd i & 1Y Folae T1gl &l
4. % HIV TchIPd Sl & 1Y Ueb HIA IS A1 31

Question Number : 60 Question Id : 630680700306 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following stages of TB has no symptoms?
Options :

1. ¥ Primary TB infection

2. ¢ Latent TB infection

3. ¥ Sccondary TB infection

4. % Active TB infection

Question Number : 60 Question Id : 630680700306 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TB & Fafafed & 3 forg @Ro # o1 e 18 g0 82
Options :

1. % TIYf¥es TB HepH0l

2./ W TB bl

3. @ fgdige TB Hepaum

4. < by TB YshHUI

Non-Communicable Diseases

Section type : Online

Section Negative Marks : 0

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 43/76
4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Is Section Default? : null

Question Number : 61 Question Id : 630680700151 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a cause of blindness?
Options :

1. ¥ Refractive errors

2. ¥ Cataract

3. ¢/ Conjunctivitis

4. % Agc related macular degencration

Question Number : 61 Question Id : 630680700151 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Foforfaa & A o a1 ideT &1 HRuT el 82

Options :

1. % 3fyade® Ffear

2.« Mifqarfde

3./ 19 TASHARNY

4. % 3fTg i THRTSs-Ulafdg g

Question Number : 62 Question Id : 630680700309 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of road traffic accidents is when one car hits the back end of the car in front of it?

Options :

1. ¢ Rear-end collision

2. ¥ Head-on collision

3. ¥ Side-swipe collision

4.

©

Side-impact collision
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Question Number : 62 Question Id : 630680700309 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e o 9§ vy UPR 3 IS® A/ gUe 79 Bid! © oid U HR S0 311 il PR & Uod e 9 Tl 82
Options :

1. v BTl Taax

2. % et egmR

3. < HIgS-WIgy Tddhi

4. ¥ IZ8-YHId Tdh

Question Number : 63 Question Id : 630680703426 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the calendar year 2022, in India, lives were lost in road accidents, as per report of Ministry of Road Transport and Highways.
Options :

1. ¥ 11,68,491

2. % 8,491

3.9 68,491

4. 1,68,491

Question Number : 63 Question Id : 630680703426 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS URae AR ISR HTe™ B RUIE & SR, Haex a¥ 2022 &, URd & Ts& gHerai i EIERIE]
Options :

1. % 11,68,491

2. ¥ 8,491

3. % 68491

4. 1,68,491

b
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Question Number : 64 Question Id : 630680700152 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following tests is used to detect Blood cancer?
Options :

1. ¢ Bone marrow biopsy

2. % Endoscopy

3. ¥ Colposcopy

4. % Colonoscopy

Question Number : 64 Question Id : 630680700152 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFoferea & 3 frg uier o1 ST I HIR BT U1 T P o o S g2

Options :

Question Number : 65 Question Id : 630680700155 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a condition that results in white or brown speckles on the teeth.
Options :
1. ¥ Narcosis
2. ¥ Sarcoidosis
3. ¥ Filariasis
4. <7 Fluorosis

Question Number : 65 Question Id : 630680700155 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
e O R R e uRumRaeY gl W ke A1 1Y T % e US 9 2
Options :
1. @ 3REEdl
2. & IRPITSIY
3. & BEARAl
4. FRARIRE

Question Number : 66 Question Id : 630680700315 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a cosmetic dental condition?
Options :

1. ¥ Tooth Decay

2. < Fluorosis

3. ¥ Tooth Sensitivity

4. = Bleeding gums

Question Number : 66 Question Id : 630680700315 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
et A I sR A areis afufas
Options :

1. % &d&d

2. & IR

3. % & gt

4. % UYgI 9 |A TG

Question Number : 67 Question Id : 630680703432 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 47176

4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
Which is a characteristic symptom of fluorosis?
Options :
1. ¥ gum bleeding
2. % glossitis
3. @ cheilosis
4. <7 mottled enamel

Question Number : 67 Question Id : 630680703432 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIRITGH 1 A1 defor o1 a1'g?

Options :

Question Number : 68 Question Id : 630680700157 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the recommended dietary allowance for iodine for a 2-month-old boy?
Options :

1. % 70 mcg per day

2.+ 110 mcg per day

3. ¥ 190 mcg per day

4. % 250 mcg per day

Question Number : 68 Question Id : 630680700157 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 TSR P TSP P oY A 1 SRR SMeR W 32
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Options :
1. % Ui & 70 meg
2. ufifE o meg
3. % 7 f& 190 meg
4. % Ui &7 250 meg

Question Number : 69 Question Id : 630680700316 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following mental illnesses is characterised by a persistent pattern of inattention and/or hyperactivity-impulsivity that has a direct
negative impact on academic, occupational, or social functioning?

Options :

1. ¥ Autism spectrum disorder

2. < Attention deficit hyperactivity disorder
3. ¥ Schizophrenia

4. ¥ Post-traumatic stress disorder

Question Number : 69 Question Id : 630680700316 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefaa 7 & o I aHite SuRt srauT iR/ sfaafeadr-emaT & TR Yer o fasivar & oy Saiftres, saafas ar
IS HTHETS R Wl THRIHD THTd TSl 82

Options :

1. % 3fffesH WaeH feyaiisR

. I Sfoaferad fegaiidx

. % STt & 91e &1 a9 feqefigy

PR N S ]

Question Number : 70 Question Id : 630680703434 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In obesity, which hormone's resistance can lead to an individual's hunger and overeating?
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Options :
1. ¥ Ghrelin
2. ¥ Cortisol
3. 7 Leptin
4. ¥ Oxytocin

Question Number : 70 Question Id : 630680703434 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tierd #, {5 g o ufaidtfa T safed @1 4 ok 3ifie @ 3 emrar § 961 B Ida 82

Options :

1.9
= P
.2

eI

National Health Programs

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 71 Question Id : 630680700319 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a goal of the National AIDS and STD Control Programme?
Options :

1. ¥ Reduce annual new HIV infections

2. % Eliminate vertical transmission of HIV and Syphilis
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3. 7 Eliminate COVID related stigma/discrimination
4. ¥ Reduce AIDS-related mortalities

Question Number : 71 Question Id : 630680700319 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeed # & o1 w1 Ia ADs SR STD Faav SRy &1 a6 T8l 32
Options :

1. % a1 T4 HIV 6T B HH AT

2. % HIV 3R RITr & S eafeR TaRor &l a7 Bl

3.V BIAS Feitll Heich/NaHTE B R BT

4. % AIDS ¥ HEid 7 &R B HH ST

Question Number : 72 Question Id : 630680700320 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a plasmodium parasite causing malaria?
Options :

1. ¥ Plasmodium Vivax

2. ¥ Plasmodium Falciparum

3. ¥ Plasmodium Malaria

4. <7 Plasmodium Anopheles

Question Number : 72 Question Id : 630680700320 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafefaa # & o a1 mefar Sam arer @ReEfSas aeidl 78 82
Options :

1. & weEfEaH fade

2. ¥ TIeHITSTH HIeHIiRA

3. % woHIfSTH HARaT
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4. < A STH TGS

Question Number : 73 Question Id : 630680700162 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Directorate of National Vector Borne Disease Control Programme (NVBDCP) is NOT the central nodal agency for the prevention and control
of which of the following vector-borne diseases (VBDs) in India?

Options :
1. ¥ Malaria
. 7 Chicken-Pox

. % Japanesc Encephalitis

W

. ¥ Kala-azar

Question Number : 73 Question Id : 630680700162 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YT IR ST I P01 HrishH e (NVBDCP) R § ufaiad 7 3 o Sgex Sfva A (vBD) 31 A &R s ¥ fag
Hotg Tew Sl TE 82

Options :

1. & AAET

2.V BIel Al

3. % SO 3haRied

4. ¥ BRANR

Question Number : 74 Question Id : 630680700244 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1987, approximately how many measles deaths were prevented by immunization in developing countries?
Options :

1. 7 700,000

2. < 1,000,000

3. % 100,000
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4. % 500,000

Question Number : 74 Question Id : 630680700244 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1987 H, [aehTaitel 11 # ehTehR 0l GRT WIR A 14 dTeil TTHA feberit g3l bl bl 7T UT?
Options :

1. ¢ 700,000

2. % 1,000,000

3. % 100,000

4. % 500,000

¢

©

Question Number : 75 Question Id : 630680700322 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
was the first pilot scheme devised and established by the Indian federal government to control and reduce the prevalence of diabetes.
Options :
1. ¥ National Diabetes Prevention Program
2. © NHS Diabctes Prevention Program
3. < National Diabetes Control Program

4. % International Diabetes Prevention Program

Question Number : 75 Question Id : 630680700322 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT F TR B T FA 3R F HA & U UReT T IRER gRT IR SR RAfid ) 71 ugeht smifie o ot
Options :
1. % TP AyHE FaRu sris
2. ¥ NHS AYHg FaRv Frfmg
3. 1P WY G BrisH
4. % IRITE AYAE MaRY drRicHH
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Question Number : 76 Question Id : 630680700325 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the average daily requirement of Todine for normal human growth and development? Choose the closest option.

Options :

1. ¥ 10-15 micrograms

2. % 50-100 micrograms

3. ¢ 100-150 micrograms

4. < 200-350 micrograms

Question Number : 76 Question Id : 630680700325 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR WG gig SR FAery & for sl & sivrd e siravadsar a1 g2
e [deed .

Options :

1. 8 10-15 HISHIAH

2. % 50-100 TTZHIH

3. <7 100-150 AZHIUTH

4. % 200-350 HIZHIUATH

Question Number : 77 Question Id : 630680703442 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : (

Correct Marks : 1 Wrong Marks : 0

Iodine deficiency during pregnancy can leadto .
Options :

1. ¥ Cushing's syndrome

2. ¥ Addison's discase

3. ¢/ Maternal and fetal hypothyroidism

4. % Maternal and fetal hyperthyroidism

https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 54176

Page 27



4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 77 Question Id : 630680703442 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR H ERA M P FMY TP gl
Options :

1. = BRI RgH

2. % gREEAAM

3. 11 Ud Y01 GISUIIIRATSSH

4. % HIq Ud YOI Sragatiafhadr

Question Number : 78 Question Id : 630680703443 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The aim of Ayushman Bharat scheme launched by the Government of India in 2018 is
Options :

1. ¥ Promote traditional medicine systems

2. ¢ Provide health care coverage

3. ¥ Priced healthcare services for senior citizens

4. % Degrade medical research facilities

Question Number : 78 Question Id : 630680703443 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2018 B YRT PR gRI TE T TS HHH HRA TSI FISET Bl
Options :

1. % URUR fafdn ugfadi &1 agrar &

2.« WY GEHIE B UGH AT

3. % gRE ARSI & 1T TeqwRe W@ g Sl

4. % fyforcan SFTHUT Jiaersii &1 &8 BT

https://g086.tcsion.com/CAE/viewHtmIPDFAction.action 55/76

4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 79 Question Id : 630680700167 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an agency of the United Nations responsible for providing humanitarian and developmental aid to children worldwide?
Options :

1. < UNICEF

2. % NIH

3. ¥ WHO

4. % CDC

Question Number : 79 Question Id : 630680700167 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & @ B Tge g 31 v ol § 5 g wR I &) Ardi SR Rsee Terd UeH $¥A & o RreR 82
Options :

1. +7 UNICEF

2. % NIH

3. % WHO

4. % CDC

Question Number : 80 Question Id : 630680703445 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The targeted Maternal Mortality Rate (MMR) and Infant Mortality Rate (IMR) by NRHM respectively is .
Options :

1. < 80/1000; 25/1000

2. % 150/1000; 40/1000

3. % 50/1000; 20/1000

4. <7 < 100/100000 , 28/100

Question Number : 80 Question Id : 630680703445 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
NRHM gRT Gférd Alg §eg &= (MMR) 3R 1% T &R (IMR) L 2
Options :
1. < 80/1000; 25/1000
2. % 150/1000; 40/1000
3. < 50/1000; 20/1000
4.7 <100/100000 , 28/100

General Knowledge

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 81 Question Id : 630680700356 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a phenomenon in genetics where a single gene influences multiple, seemingly unrelated phenotypic traits.
Options :
1. ¥ Codominance
2. % Polygenic inheritance
3. ¢ Pleiotropy
4. = Epistasis

Question Number : 81 Question Id : 630680700356 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR} H U U1 § 981 U UDd ofiF &3, Tdhed: Saitd Haeuiig aeon & yqifad srarg|
Options :

1. = ¥guyd
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2. % SgofHl degehA
3. 7 gguHIfaal
4. % U™

Question Number : 82 Question Id : 630680700350 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the head of the state executive in the Andaman and Nicobar Islands of India?
Options :

1. ¥ Chief Minister

2. & President

3. ¥ Governor

4. 7 Lieutenant Governor

Question Number : 82 Question Id : 630680700350 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

URA & 3SHM 3R FdaR 6 99g H I SIS 1 7E i 82
Options :

1. % qRI A

2. % yufd

3. < STUTed

4. 7 JUTUTA

Question Number : 83 Question Id : 630680700347 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which regulatory body in India oversees and regulates Microfinance Institutions (MFIs) to ensure their proper functioning and adherence to
guidelines?
Options :
1. ¥ Securities and Exchange Board of India (SEBI)
2. % National Bank for Agriculturc and Rural Development (NABARD)
https://g06.tcsion.com/CAENNiewHtmIPDFAction.action 58/76

Page 29



4/1/24, 3:57 PM g06.tcsion.com/CAE/viewHtmIPDFAction.action
3. ¢ Reserve Bank of India (RBI)
4. ¥ Small Industries Development Bank of India (SIDBI)

Question Number : 83 Question Id : 630680700347 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

URA & 17 1 Fames e ger fam ST (MFls) 1 2R iR faframm ovar § aifds 7% Ifd seiet 3R el &1 e
G T S Hep?

Options :

1. % yRdE ufayfa v fafa 1S (SEBI)

2. « 519 B gd T fdpr d (NABARD)

3.  HRa foid §% (RBI)

4. 8 YRJR @Y I 961 % (SIDBI)

Question Number : 84 Question Id : 630680700339 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The city of Leh, situated in the Union Territory of Ladakh, experiences which type of climate?
Options :

1. ¥ Tropical

2. % Mediterrancan

3. <7 Alpine

4. ¥ Continental

Question Number : 84 Question Id : 630680700339 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

H% T Tex Agra H FRd, I8 e, 658 TSR B SIdr o1 3Hd Hd1 67
Options :

1. ¥ Juibiesd

2. % 3RS
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3. ¢ 3elrsd
4. © HEIgIdE

Question Number : 85 Question Id : 630680700338 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which event marked the beginning of the direct British rule in India?
Options :

1. ¥ Treaty of Sugauli

2. ¥ Battle of Plassey

3. * Treaty of Versailles

4. < Government of India Act of 1858

Question Number : 85 Question Id : 630680700338 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

e reTT & HRd H ye e e 1 e g5?
Options :

1. % el ot Y

2. % W B g

3. % qEg &Il

4.+ 1858 BT HRd WIHR SHAFH

Skill Based
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null
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Question Number : 86 Question Id : 630680704270 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the sequence of steps followed to measure the blood pressure.

A. Inflate the cuff to 30 mmHg above palpated radial pulse disappearance.
B. Listen for the first Korotkoff sound.

C. Feel for the radial pulse to determine systolic pressure.

D. Deflate the cuff slowly and note the disappearance of Korotkoff sounds.

Options :

1. ¥ ACBD
2.+ CABD
3. ¥ DCBA
4. ¥ BCDA

Question Number : 86 Question Id : 630680704270 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TSI 1 AU o fIT SO 11T RO & 3(shH P oaiyd B |
A. BB B G s ST 711 The G ¥ HWR 30 mmHg Teb Heald |
B. Ugdl HRICHIH @G Gl

¢. Rreiftre gam Rufiva s & foe eaa v o qegg |

D. &% ®I eiR-4R 3aTpid B 3R SRIcHIE @-dl & T g IR &H
Options :

1. % A,CB,D

2. C,A,B,D

3. % D.C,B,A

4. % B,C,D,A

Question Number : 87 Question Id : 630680704274 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the given type of hemoglobinometer.
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Options :

1. ¥ Gowers' apparatus

2. ¢ Sahli's hemoglobinometer
3. ¥ Oliver's hemoglobinometer

4. ¥ Dare's hemoglobinometer
o

Question Number : 87 Question Id : 630680704274 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feu My Eerafaie ¥ TR 3 ugaH Y1
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Options :

1. % A Jul

2. WIgad g faIHIeR
3. % SfiferaRy gienfaeR
4. % WY gHEFAIGAEICR

Question Number : 88 Question Id : 630680704271 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the diagram provided below, which illustrates the laboratory instrument.
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ﬂ"I@»
=2

=

Options :
. 7 Autoclave

=

. ¥ Hot air oven

b

2
3. € Incubator
4

o

Laminar air flow

Question Number : 88 Question Id : 630680704271 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R feu 7t g 1 ugaH, ST UERTRITT SUSRUl S SXidl g
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Options :

1. ¢ Elaid

2. % qudrd Hel

3. % SR

4. % YO ag UdTg

Question Number : 89 Question Id : 630680704279 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Refer to the image of a postpartum Intrauterine Contraceptive Device (IUCD) provided below. What is the most suitable timing for the insertion
of this contraceptive device?
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\\/_\/_

e o———

D
3
<

~7
Options :
1. © During the first trimester of pregnancy
2. </ Immediately after delivery of the placenta
3. % Six weeks after childbirth
4. % One year postpartum

Question Number : 89 Question Id : 630680704279 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A1 &) 718 TRpaeR St iRl mifRIgew Sumror (ueh) B Bia T | 38 THFRIYS IUHR0 S @ & T Jek Suged THg T 2

Options :

1. % TyfaRT B ugeh famel & GrRM
2. v A 3 Tl & Raae
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3. % o $ 5 & B: U6 914
4. % TR 1 TP a9

Question Number : 90 Question Id : 630680704272 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Match the path by which a medication is injected with its route of administartion.

1. Intra Muscular Injection | A. Injected to hypodermis

2. Intra Venous injection | B. Injection given deep into the muscle
3. Subcutaneous injection | C. Injection is absorbed more slowly
4. Intra Dermal injection | D. Fastest way to inject a medication

Options :

1. v 1-B, 2-D, 3-A, 4-C
2. % 1-A,2-B, 3-C, 4-D
3. % 1-A,2-C,3-D,4-B
4. % 1-D,2-C, 3-A, 4-B

¢

¢

Question Number : 90 Question Id : 630680704272 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y &l I TR A1 ¥ 1™ & [ gRT aar /- &t o g |
1. 3 UM SolaRM | A. 318d H I

2. 3[d: RRIRP Zoia=M | B. SolaM ANGURME H g5 db
e S g

3. SAYXTAT ol %égwmaﬁ$mimiﬁwwﬁm

4. 3[d: TG SodRM | D. Gal Sulde B Dl YaY dol dRidl
Options :

1. 1-B, 2-D, 3-A, 4-C

2. % 1-A, 2-B, 3-C, 4-D
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3. % 1-A,2-C, 3-D, 4-B
4. % 1-D,2-C, 3-A, 4-B

Question Number : 91 Question Id : 630680704273 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the sequence of steps followed for the detection of glucose in urine.

A. Record the glucose level based on the color change observed.

B. Use a urine dipstick or test strip to perform the urine glucose test.

C. Collect a urine sample from the patient in a clean, dry container.

D. Compare the color change on the dipstick or test strip to the provided color chart.

E. Immerse the dipstick or test strip into the urine sample for the specified amount of time.

Options :

1. ¥ CBEAD
2. ¥ AECDB
3. ¥ EDCBA
4. <7 CBEDA

Question Number : 91 Question Id : 630680704273 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A B e Ial BT Ul T & foTT 3UHTE 1T TRUT & ShH o) Haid o |
A. TE T URTA & YR W IDIS KR Pl bl B

B. T TfehTo] UXI&UT R & Q1T T FeuReds a1 Uigiun ug) &l SugiT &
C. TP 1%, @ HeR B It I3 &1 71 U B |

D. fguftes a1 wteror ug) wR W1 uiady &) gat e Ty ST e Y &8
E. f[Sufkes ar udieror ugt &1 [y 9mg & forw g7 & 997 4 vl
Options :

1. % C,B,E,A,D

2. % A,E,C,D,B

3. % ED,C,B,A

4.+ C,B,E D,A
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Question Number : 92 Question Id : 630680704275 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 28-year-old pregnant woman, Giselle, arrives at the hospital in active labor. Upon assessment, she is found to be in her first stage of labor,
experiencing regular contractions every 5 minutes. The obstetrician decides to perform a per vaginal examination (PVE) to assess Giselle's
cervical dilation and effacement. After conducting the PVE, it is determined that Giselle is 8-10 centimeters dilated and fully effaced. What is the
next appropriate step in the management of Giselle's labor?

Options :

1. ¥ Administering magnesium sulfate (MgSO4) to prevent seizures during labor.

2. % Initiating pantograph plotting to monitor the progress of labor contractions.

3. ¥ Implementing active management of the third stage of labor to reduce the risk of postpartum hemorrhage.

4. <7 Proceeding with the second stage of labor management, including guidance on effective pushing techniques.

Question Number : 92 Question Id : 630680704275 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 28 auify mfadt nfgen, e, aftsa v dieT & srudra ugad 8| Jedid- $3- IR, 98 UNd & Ugd 9R0T 8 073 773 iR g3 5 fime §

aftrd Sgrem 1 sva HR XE ot T faRies Fia & iR iar & Shama oI faau &1 srehar e & g AifS gRT wRiern (PVE)
PR BT 1019 A4 1 PVE 9 & a1, I8 Fufia farar siran 8 fos o 8-10 §hfir el g2 @ SR Re A faafa el s 81 feia &
THUIeT & ser B SATaT SfId Bed 1 82

Options :

1. % U9 P SR R BT A & o8 FRRE Telhe (Mes04) TR a1l

2. % YUqUIST Ugdd @1 WA @1 [FTRIAT & forg USRI @I IR Al

3. & AR IKII1G & SRGH DT B8 B & 10 UHd & g =01 b1 Hlehd Yae A 1|

4. YYTE! UGB TTH D] dd-1dh] IR AN Afed Taauiel HeeH & AR 901 & 1Y 3 961

Question Number : 93 Question Id : 630680704276 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the anthropometric measurement with its description:

Measurement: Description:

1. Weight A. Measurement of the distance from the
top of the head to the bottom of the feet,
usually while standing upright.

2. Height B. Measurement of the circumference of
the upper arm at the midpoint between
the shoulder and elbow.

3. Mid-upper arm C. Measurement of the force exerted by
circumference (MUAC) | the body due to gravity.

Options :

1. 1-C,2-A, 3-B

2. % 1-A,2-C, 3-B

3. ¥ 1-C,2-B, 3-A

4. % 1-B,2-A, 3-C

¢

Question Number : 93 Question Id : 630680704276 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THIG AU B 3Yb [qaR01 & 1Y e $:

HIY: faazur:

1. 4R A RR & SR I WRI & 41d 0 I gl
P MY, AR TR 1Y TS WHe|
2.3dy B. &Y 3R dig-l & &I 7YY fdig W
SR dig Dt uRiY 1 HM|

3. A-SW dig URIY | C. TeIHYU & BRI IRR W RH
(MUAC) qTel §d BT HM|

Options :
1. 1-C, 2-A, 3-B
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2. % 1-A,2-C, 3-B

3. % 1-C,2-B, 3-A
4. <~ 1-B, 2-A, 3-C

€

Question Number : 94 Question Id : 630680704277 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When placing a peripheral IV line, a healthcare professional will do them in the following steps. Arrange the steps in the correct sequence.

A. Push a small plastic catheter over the needle and into the vein.

B. Place an access cap over the catheter, which allows them to administer medications without having to re-inject a needle.
C. Inject a needle into the person’s vein.

D. Remove the needle, leaving the catheter in place.

Options :

1. ¥ CDBA
2. % DBCA
3.<” CADB
4. % BADC

Question Number : 94 Question Id : 630680704277 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R 1V T3 @I TG, T TR ST IR I [HUferiRad <Rl H S| IRl & Jet A § SIafeyd o

A T B SN R 9 H TF Blel @ifed B ST |

B. HUe & SR TH T &Y T, Ol I Ys B! SR Soiae b foHT a1 & i gl Gl g |
C. A B 79 H T 0T B

D. $AR &I ITB W8 W BISHR, S B gel &1

Options :

1. ¥ CDBA

2. ¥ DBCA

3./ CADB

4. ¥ BADC
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Question Number : 95 Question Id : 630680704278 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘When administering oxygen to a patient, a healthcare professional will do it in the following steps. Arrange the steps in the correct sequence.
A. Secure the nasal cannula in place using the appropriate method.

B. Assess the patient's respiratory status and need for supplemental oxygen.

C. Adjust the flow rate of oxygen according to the prescribed rate.

D. Ensure the oxygen source is turned on and functioning properly.

E. Position the nasal cannula comfortably over the patient's nose.

Options :

1. <7 DAEBC
2. ¥ ABCDE
3. ¥ DCAEB
4. < ECDAB

8

Question Number : 95 Question Id : 630680704278 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ool 1T 1 aifariior Td WY, Ueh W S HId URiaR 33 FafrRad =rol § S| =Rl &) 98 6l H afid S8
A. 3 At T IUERT v A1 Ya=T &1 IS S8 UR YR a1 |
B. 7 Y o FRURY SR R STl Y sira=aasdl o1 3i1dha a1
C. TS & 7aTg &R &l MYild X & IR gamEiioE |

D. gARa o & sifaedior Hid a1q g ofR 3l 9 M IR @I 5

E. 1% Ua=HI S 0 &1 16 & SR SRE A TG |

Options :

1./ D,A,E,B,C

2. % A,B,C,D,E

3.9 D,CA,EB

4. % E,C,D,A,B

Analytical and Communication Skills
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Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 96 Question Id : 630680699730 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
TQ:GJ:=FC:?

Options :

L. % UW

2.7 UX

3.9 uv

4. % WX

Question Number : 96 Question Id : 630680699730 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I A e BT 99 B Sl e 31ER-HE U 34! UHR U Yt ¢ o UhR I g S1&R-90g Ued SHEeR-I4g 9 el g1
TQ:GJ:FC:?

Options :

1. % Uw

2.7 UX

3, % UV

4. % WX

Question Number : 97 Question Id : 630680699732 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Three Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, decide which of the conclusions
logically follow(s) from the statements.
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Statement I: All Schools are buildings.
Statement II: Some buildings are colleges.
Statement III: All colleges are institutes.

Conclusion I: Some buildings are institutes.
Conclusion II: Some Schools are colleges.

Options :

1. &7 Only conclusion I follows

2. % Only conclusion II follows

3. < Both conclusions I and 11 follow

4. % Neither conclusion I nor II follows

Question Number : 97 Question Id : 630680699732 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A B U Y § foraes a1 &1 e sodifond 1 ok 11 T 1T § | Hmi &1 9 A g, o & i o w1 e arfdhe &0 9 ot
P TR Rl (@) B

B 1 e vae B

FY 1I: $F 4 Helaad g

HY 11 9 HeTfeer IR B

pY I & U TRIF T

ey 1: P e TeTleeaa g1
Options :

1. < %aa (e 1 SR BT ¥

2. % Haa ey 11 SRR Rl &

3. @ FIsBe [ SR 11 ST IR0 6 ©

4. % TPy 1 3R T8 11 TR HRaAT §

Question Number : 98 Question Id : 630680699731 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Six friends Aarav, Bishnu, Ranveer, Poonam, Sonu, and Vicky are sitting around a table facing toward the centre (not necessarily in the same
order). Vicky sits second to the left of Ranveer. Bishnu sits second to the right of Aarav. Sonu sits to the immediate left of Vicky. Who sits second
to the right of Ranveer?

Options :

1. ¥ Vicky
2. <7 Poonam
3. % Sonu

4. ¥ Aarav

Question Number : 98 Question Id : 630680699731 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B: i1 319, oy, UM, I, Hi 3R [9ob] U 71 & IR 3R 5 BT 3R T8 B 96 & (I 181 1 Joil opH | o) | faawl, 0k
gsamgﬁgﬂ%wwéaﬁlﬁq SRA & S T GO VI W 967 § 1 G fa9D] & 31 IRt 3ik 9371 81 0GR & 1 F gok RIF R HH
Options :

1. & fqaat

2./ YR

3. % 9

4. % 3IRJ

Question Number : 99 Question Id : 630680699251 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a part of formal communication?
Options :

1. &7 My dear

2. @ RSVP

3. % Subject Line

4. ¥ Structured message
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Question Number : 99 Question Id : 630680699251 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a part of formal communication?
Options :

1. < My dear

2. % RSVP

3. ¥ Subject Line

4. % Structured message

Question Number : 100 Question Id : 630680699250 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Fascilitate

2. ¥ Appreshiate

3. <7 Chimpanzee

4. < Idealistick

Question Number : 100 Question Id : 630680699250 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which one is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Fascilitate

2. % Appreshiate

3. % Chimpanzee

4. ¥ Idealistick
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